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1. Which of the following countries has

influenced the development of

Physical Education in the 20th

Century ?

(A) United Kingdom

(B) Denmark

(C) U.S.A.

(D) Germany

2. Presently the primary objective of

Physical Education is the

development of :

(A) Motor fitness

(B) Health related fitness

(C) Character

(D) Personality

1. 20 O;k 'krdkr [kkyhyiSdh dks.kR;k ns'kkpk

'kkjhfjd f'k{k.k fodklkr nwjxkeh ifj.kke

fnlwu ;srks \

(A) ;quk;VsM fdaxMe

(B) MsUekdZ

(C) ;w- ,l- ,-

(D) teZuh

2. l| fLFkrhr 'kkjhfjd f'k{k.kkP;k izkFkfed

mÌh"Vkuqlkj ;kpk fodkl gksrks %

(A) dkjd lqn`<rk

(B) vkjksX;kf/kf"Br lqn`<rk

(C) pkfj´;

(D) O;fDreŸo

Physical Education
Paper II

'kkjhfjd f'k{kk
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. The process by which a child

acquires new responses or modifies

old responses is called.................. .

(A) Education

(B) Learning

(C) Conditioning

(D) Adaptation

4. The present President of the

International Olympic Committee

is.................. .

(A) Suresh Kalmadi

(B) Juan Antonio Samaranch

(C) Avery Brundage

(D) Jacques Rogge

5. Physical Education in the School

Curriculum in Maharashtra State

is a.................. .

(A) Core subject

(B) Elective subject

(C) Optional subject

(D) Compulsory subject

3. ckydkus uohu izfrlkn laikn.ks] tqU;k

izfrlknkauk uohu :i ns.ks ;k izfÿ;syk

Eg.krkr--------------------

(A) f'k{k.k

(B) f'kd.ks

(C) voLFkkiu

(D) ifjfLFkrhuq:i cny.ks

4. vkarjjk"V™h; vkWfyfEid lferhps l/;kps

vË;{k----------------------

(A) lqjs'k dyekMh

(B) tkWu vWUVksfuvks lejkap

(C) vsOgjh czqaMst

(D) tsDoht jkWxh

5. egkjk"V™krhy 'kkys; vH;klÿekr 'kkjhfjd

f'k{k.k fo"k; ;kP;kr eksMrks---------------------

(A) xkHkkHkwr fo"k;

(B) ,SfPNd fo"k;

(C) oSdfYid fo"k;

(D) vko';d fo"k;
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6. The muscle tissue is distinguished

from other tissues by the ability to :

(A) Perform at a high speed

(B) Engage in sustained activity

(C) Contract and perform mechanical

work

(D) Perform at least resistance

7. How many times more energy is

released during oxidative process

than released during anaerobic

glycolysis ?

(A) 15 times

(B) 18 times

(C) 21 times

(D) 12 times

8. With which of the following the lung

volumes does not vary ?

(A) Age

(B) Gender

(C) Body size

(D) Posture

6. brj ≈ŸkhaP;k rqyusr Luk;w ≈Ÿkh e/;s gs osx š

vlrs %

(A) mPp osxkus dk;Z dj.ks

(B) lrr dk;Z djr jkg.ks

(C) vkdqapu o ;kaf=d dk;Z dj.ks

(D) dehr deh jks/kk fo#º dk;Z dj.ks

7. izk.kok;q fojghr Xyk;dksykbfll izfÿ;sis{kk

izk.kok;qlfgr izfÿ;se/;s fdrh iV tkLr ≈tkZ

fuekZ.k gksrs \

(A) 15 iV

(B) 18 iV

(C) 21 iV

(D) 12 iV

8. ^Qq∂Qql {kerk* [kkyhyiSdh d'kkeq š cnyr

ukgh \

(A) o;

(B) fyax

(C) 'kjhj vkdkjeku

(D) 'kjhj /kkj.kk
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9. The term ergogenic aid describes

substances or procedures that

improve :

(A) Physical work capacity

(B) Physiologic function

(C) Athletic performance

(D) All of the above

10. If an athlete exposes a just injured

limb to heat, he will :

(A) Aggravate its swelling

(B) Worsen its condition

(C) Only delay its recovery

(D) Render it liable to infection

11. Turning of the foot so that the sole

faces outward is a movement called :

(A) Extension

(B) Protraction

(C) Aversion

(D) Abduction

12. Levers in the body produce force

to................... .

(A) Create movement

(B) Overcome resistance

(C) Accelerate an object’s velocity

(D) Catapult an object into space

9. ^,jxkstsfud ,M* gh laKk v'kk inkFkZ fdaok
izfÿ;slkBh okijyh tkrs T;keq š gh lq/kkj.kk
gksrs--------------------

(A) 'kkjhfjd dk;Z dj.;kph {kerk

(B) dkf;d dk;Z

(C) vWFkysfVd dk;Zeku

(D) fnysys loZ ?kVd

10. tj [kš kMqph uqdR;kp btk >kysY;k gkrk o
ik;kyk m".krk fnyh rj--------------------

(A) lqt ok<rs

(B) R;kph ifjfLFkrh okbZV gksbZy

(C) rks iwoZor m'khjk gksbZy

(D) tarqpk lalxkZph 'kD;rk ok<sy

11. gkypkyh gjE;ku] ik; oˇY;keq̌ s rˇik; ck·
fn'ksl oˇfo.;kP;k gkypkyhl vls Eg.krkr %

(A) ,DlVsU'ku

(B) izksV™WD'ku

(C) vWOg'kZu

(D) vWcMD'ku

12. 'kjhjkrhy rjQ cykph fufeZrh ;klkBh
djrkr-------------------------

(A) gkypky mRiUu djrs

(B) vojks/kkoj ekr dj.;klkBh

(C) oLrqpk osx ok<fo.;klkBh

(D) varjkˇkr oLrq Qsd.;klkBh
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13. A sprinter in ‘SET’ position, having

centre of gravity outside the based

support has :

(A) Stable position

(B) An unstable position

(C) A semi-stable position

(D) A neutral position

14. In the process of motor skill-

improvement the speed of joint

actions is controlled by :

(A) Nervous system

(B) Muscular system

(C) Skeletal system

(D) Respiratory system

15. The range of vertical displacement

of the body in running is :

(A) greater than in walking

(B) lesser than in walking

(C) same as in walking

(D) equal as in walking

13. ^lsV* fLFkrhe/;s vlysY;k /kko.kkÚ;k [kš kMwpk

xq#Ÿoe/; ik;kHkwr vk/kkjkP;k ckgsj vlY;keq̌ s

rks ;k fLFkrhr vlrks %

(A) fLFkj fLFkrh

(B) vfLFkj fLFkrh

(C) v/kZfLFkj fLFkrh

(D) mnklhu fLFkrh

14. dkjd dkS'kY;kaP;k izxfrP;k izfÿ;se/;s

lkaË;kP;k ÿh;kapk osx fu;af=r dj.;kps dke

gh laLFkk djrs %

(A) eTtk laLFkk

(B) Luk;q laLFkk

(C) vLFkh laLFkk

(D) 'olu laLFkk

15. /kkorkuk 'kjhjkpk m/oZfn'k su s gk s.kkÚ;k

foLFkkiukph O;kIrh gh----------------------

(A) pky.;kis{kk eksBh vlrs

(B) pky.;kis{kk deh vlrs

(C) pky.;klkj[khp vlrs

(D) pky.;kcjkscj vlrs
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16. Associative theories of learning are

based on the premise of................... .

(A) Individual environment bond

(B) Stimulus and response bond

(C) Brain-Mind bond

(D) Sensory-Perception process

bond

17. What dimensions of personality do,

complex thought processes, rational

thinking and creativity, reflect :

(A) Social Dimension

(B) Mental Dimension

(C) Intellectual Dimension

(D) Emotional Dimensions

18. Which of the following is not a key

factor in the development of group

dynamics ?

(A) Forming

(B) Storming

(C) Confirming

(D) Performing

16. laca/kokn miiŸkhpk ik;k gk vkgs---------------

(A) oS;fDrd o okrkoj.k ;kaps laca/k

(B) psrd] izfrlkn laca/k

(C) esanw o eukpk laca/k

(D) laosnuk o vocks/kkps laca/k

17. l`tu'khyrk] lqK fopkj] xqarkxqarhph fopkj ;k

izfÿ;k O;DrheŸokP;k dks.kR;k vk;kekeqˇs

fnlwu ;srkr \

(A) lkekftd vk;ke

(B) ekufld vk;ke

(C) ckSfºd vk;ke

(D) Hkkofud vk;ke

18. ^leqgkP;k xrhekur sP;k* fodklklkBh

xq#fdYyh ulysyk ?kVd dks.krk \

(A) fufeZrh

(B) >a>kokru

(C) lqfuf'prh

(D) fu"iknu
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19. Which of the following provides

comprehensive learning experiences ?

(A) Syllabus

(B) Course content

(C) Curriculum

(D) Course material

20. In curriculum development. What is

resisted the most from all corners ?

(A) Innovation

(B) Experimentation

(C) Research

(D) Change

21. Health is basically a responsibility

of the :

(A) State

(B) Parents

(C) Individual

(D) Community

22. Which of the following conditions is

life threatening ?

(A) Heat Radiation

(B) Heat Exhaustion

(C) Heat Stroke

(D) Heat Loss

19. vkdyukRed v/;;u vuqHkwrh [kkyhyiSdh
d'kkeq š feˇrs \

(A) ikBÓÿe

(B) dkslZP;k fo"k;kaps Kku

(C) vH;klÿe

(D) dkslZyk vlysys lkfgR;

20. lxÛ;k vaxkuh vH;klÿe fodklkyk vMFkˇk

fuekZ.k dj.kkjk ?kVd dks.krk \

(A) uofufeZrh

(B) izk;ksfxdrk

(C) la'kks/ku

(D) cny

21. vkjksX;kph ewyHkwr tckcnkjh ;kaph vkgs %

(A) jkT;kph

(B) ikydkaph

(C) oS;fDrd

(D) lektkph

22. tho?ks.kh v'kh fLFkrh dks.krh \

(A) m".krsps fodhj.k

(B) m".krseq̌ s Fkdok

(C) m"ek?kkr

(D) m".krsph {k; gks.ks
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23. Our hands generally get

contaminated with.................... .

(A) Bacteria

(B) Soil and dirt

(C) Oil

(D) Chemicals

24. Who of the following need the most

recreation ?

(A) Infants and children

(B) Girls and women

(C) Labourers and working people

(D) Athletes and players

25. Which of the following sports

activities cannot be categorized as

anaerobic :

(A) Sprinting

(B) Squats and bench press

repetition

(C) Running a Marathon

(D) Free style swimming for a

beginner

23. loZlkekU;i.ks vkiys gkr ;keqˇs nqf"kr

gksrkr----------------------

(A) thok.kw

(B) ekrh o ?kk.k

(C) rsy

(D) jlk;us

24. [kkyhyiSdh dks.kkyk euksjatukph vf/kd xjt

vkgs \

(A) ygku ckyd o eqys

(B) eqyh o fL=;k

(C) dkexkj o dke dj.kkjs yksd

(D) [ksˇkMw

25. izk.kok;q fojghr œrhe/;s [kkyhyiSdh dks.kR;k

œrhpk lekos'k gks≈ 'kdr ukgh \

(A) y?kq varjkP;k 'k;Zrh

(B) LDokV o csap izsl fjihfV'ku

(C) eWjsFkkWu 'k;Zr /kko.ks

(D) uok s fnr ik sgk s.;kÚ;k [k sˇkM w alkBh

^›hLVkbZy* iksgks.ks

http://www.studentbounty.com/
http://studentbounty.com/


9 [P.T.O.

NOV-71211/II

26. For maximizing power production

which of the following training

exercises is useful ?

(A) Plyometric exercise

(B) Weight training

(C) Resistance training

(D) Iso-kinetic training

27. Apart from physical and skill

training. An athletes efforts to

prepare for competition will become

zero if due emphasis is not placed

on :

(A) Adjustment training

(B) Psychological training

(C) Socialization

(D) Inter-personal relationship

28. Isometric training is performed

against :

(A) A movable object

(B) An inmovable object

(C) A static object

(D) A dynamic object

26. [kkyhyiSdh] tkLrhr tkLr 'kfDr fuekZ.k

dj.;klkBh dks.krs izf'kf{kr O;k;ke izdkj

mi;qDr vkgsr \

(A) Iyk;ksesfV™d O;k;ke izdkj

(B) osV V™sfuax

(C) jks/k izf'k{k.k

(D) vk;lksdkusfVd izf'k{k.k

27. Li/k s ZlkBh r;kjh djrkuk] 'kkjhfjd o

dkS'kY;kP;k r;kjh O;frfjDr [kš kMwus dks.kR;k

xks"Vhoj vf/kd y{k u fnY;kl R;kph r;kjh

'kwU;or gksbZy \

(A) lek;kstu izf'k{k.k

(B) ekul'kkL=h; izf'k{k.k

(C) lekthdj.k

(D) vkarj&O;Drh laca/k

28. ^vk;lksesfV™d izf'k{k.k* ;kP;k fojks/kkr dsys

tkrs %

(A) py oLrq

(B) vpy oLrq

(C) fLFkj oLrq

(D) xrh'khy oLrq
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29. ^,d pkaxyk iz'u fopkj.ks* gs d'kkP;k O;k[;sr
;srs \

(A) 'kkL=

(B) iz;ksx

(C) la'kks/ku

(D) 'kks/k

30. la'kks/ku {ks=k'kh lanHkZ vlysY;k la'kks/ku
leL;sph mdy 'kks/k.;klkBh gh iºr okijyh
tkrs %

(A) mi;ksftr la'kks/ku

(B) ewyHkwr la'kks/ku

(C) xq.kkRed la'kks/ku

(D) œrh la'kks/ku

31. ,[kk|k vH;klkr vla[; O;Drh fdaok vla[;

oLrw ts MWVkps lzksr Eg.kwu okijys tkrkr R;kauk

rkaf=d n`"Vhus vls Eg.krkr %

(A) U;kn'kZ

(B) tula[;k

(C) lkaf[;dh

(D) vkdMs

32. dks.kR;kgh forj.kke/khy mPpre vadke/kwu

U;wure vad otk dsys vlrk gs izkIr gksrs %

(A) izpyu

(B) foLrkj

(C) ljkljh

(D) izek.k fopyu

29. “Asking of a good question”, falls

under the definition of :

(A) Science

(B) Experiment

(C) Research

(D) Search

30. To solve problems that have direct

bearing on the context in which

research is to be conducted, we use :

(A) Applied Research

(B) Fundamental Research

(C) Qualitative Research

(D) Action Research

31. The infinite number of individuals

or items which serve as sources of

data in a study technically are

called :

(A) Sample

(B) Population

(C) Statistics

(D) Data

32. If we deduct the lowest score from

the highest score of a distribution

we would get the :

(A) Variance

(B) Range

(C) Average

(D) Standard deviation
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33. Which of the following situations

reflects zero correlation ?

(A) Academic grade vs. Intelligence

(B) Butterfly stroke vs. I.Q.

(C) Hours of Study vs. Examination

success

(D) Training vs. Performance

34. Area covered under +1σ and –1σ in

a Normal Probability curve is :

(A) 34.13%

(B) 95%

(C) 68.26%

(D) 27.26%

35. A devise or technique used to

measure the performance, skill level,

or knowledge of a learner is called :

(A) Implement

(B) Tool

(C) Observation

(D) Measurement

36. A high amount of lactic acid present

in the blood reflects..................... .

(A) Fatigue

(B) Restlessness

(C) Discomfort

(D) Inertia

33. ^'k wU; lglaca/k* [kkyhyiSdh dks.kR;k

ifjfLFkrhr feˇrks \

(A) lSºkafrd xzsM@cqºheŸkk

(B) cVj∂yk; LV™ksd@cqºheŸkk

(C) iq"dˇ oš  vH;kl@ijh{ksrhy ;'k

(D) izf'k{k.k@dk;Z{kerk

34. izlkekU; laHko oÿke/;s +1σ vkf.k –1σ

;ke/;s ;s.kkÚ;k {ks=kph VDdsokjh %

(A) 34.13%

(B) 95%

(C) 68.26%

(D) 27.26%

35. v/;;u dR;kZph dkS'kY; ikrˇh] fdaok Kku
ikrˇh ekst.;klkBh ts lk/ku okijys tkrs R;kyk
Eg.krkr %

(A) votkj

(B) lk/ku

(C) fujh{k.k

(D) ekiu

36. jDrke/;s tkLr izek.kkr yWfDVd vWflM
vlY;kl gk ifj.kke gksrks----------------------

(A) Fkdok

(B) vLoLFkrk

(C) vlq[kdkjd

(D) tMŸo
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37. Name the instrument used to

measure sitting height.................. .

(A) Goniometer

(B) Stadiometer

(C) Spirometer

(D) Sphygnomanometer

38. The apex body controlling and

directing amateur sports in India

is..................... .

(A) Organisation of Indian Sports

(B) All India Council of Sports

(C) Indian Olympic Association

(D) Association of Indian Sports

Federations

39. The Master teachers in the World

are known for their.................... .

(A) Fund of knowledge

(B) Wisdom and intelligence

(C) Methodology of Teaching

(D) Personality and character

40. In the total scheme of physical

education, the supervisor must give

highest priority to..................... .

(A) Laid down standards

(B) Duties assigned to them

(C) Human relations

(D) Objectives of supervision

37. clysY;k fLFkrhr m aph ek st.;klkBh
T;k lkËkukpk okij dsyk tkrk s R;kps
uko----------------------

(A) xksfuvksehVj

(B) LVsfM;ksehVj

(C) Lik;jkWehVj

(D) fLixukseWuksehVj

38. Hkkjrkr gkS'kh ÿhMsoj fu;a=.k o funsZ'ku

dj.kkÚ;k lokZr mPp la?kVu gs vkgs----------

(A) Hkkjrh; ÿhMk fu;kstu

(B) Hkkjrh; ÿhMk ifj"kn

(C) Hkkjrh; vkWyafid la?kVuk

(D) Hkkjrh; ÿhMk ijhla?kkpk la?k

39. txke/khy ^izHkkoh f'k{kd* ;k lkBh vkš [kys
tkrkr----------------------

(A) Kku HkaMkj

(B) cqºheŸkk o 'kgk.ki.k

(C) v/;;u iºrh

(D) O;fDreŸo o pkfj´;

40. loZ n`"Vhus fopkj dsyk rj 'kk- f'k- {ks=kr
i;Zos{kdkauh mPp izk/kkU; ;k xks"Vhauk fnys
ikfgts----------------------

(A) ekuds r;kj dj.ks

(B) R;kaph drZO;s

(C) ekuoh laca/k

(D) i;Zos{k.kkph mÌh"Vs
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Q. No. 41, 42 and 43 :

Below are given two statements.

Select the correct answer from the

choice given below.

41. I. “Physical Education should

prepare the child for Supreme

Effort”.

II. “Physical Education ensures a

child’s physical, motor, mental

and social development”.

(A) Both I and II are correct

(B) I is correct and II is wrong

(C) II is correct and I is wrong

(D) Both I and II are wrong

42. I. “A balanced diet generally

provides adequate mineral

intake”.

II. “Athletes take diet supplements

to replenish minerals”.

(A) I is correct and II is wrong

(B) II is correct and I is wrong

(C) I and II are correct

(D) I and II are wrong

iz'u ÿ- 41, 42 vkf.k 43 :

[kkyh nksu fo/kkus fnyh vkgsr- [kkyhy

mŸkjkiSdh vpwd mŸkj |k-

41. I. loksZŸke iz;RuklkBh 'kkjhfjd f'k{k.kkus

fo|kFkhZ r;kj dsys ikfgts-

II. 'kkjhfjd f'k{k.kkrwu fo|kF;k±pk 'kkjhfjd]

dkjd] ekufld o lkekftd fodkl

fuf'pr gksrks-

(A) I o II nksUgh okD;s cjkscj

(B) I cjkscj o II pwd

(C) II cjkscj o I pwd

(D) nksUgh I o II pwd

42. I. lerksy vkgkjke/kwu i;kZIr [kfut

feˇrkr-

II. [k sˇkMw [kfutk aph derjrk iwjd

[kk|kaeËkwu iw.kZ djrkr-

(A) I okD; cjkscj vkf.k II okD; pwd vkgs

(B) II okD; cjkscj vkf.k I okD; pwd vkgs

(C) I okD; o II okD; nksUgh cjkscj

(D) I o II okD;s nksUgh pwd
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43. I. “De Coubertin : the father of

Modern Olympic Games - was

against women’s participation

in sports.

II. “So women have not defied

ancient Olympic tradition”.

(A) I is correct and II is wrong

(B) II is correct and I is wrong

(C) I and II are correct

(D) I and II are wrong

44. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Testing anxiety (1) Spielberger

(b) Criteria of test (2) BMI

evaluation

(c) Girth measurement (3) Objectivity

(d) Body composition (4) Gaulick tape

Code :

(a) (b) (c) (d)

(A) (2) (3) (4) (1)

(B) (1) (3) (4) (2)

(C) (1) (2) (4) (3)

(D) (1) (3) (2) (4)

43. I. Mh&dqcjVhu&vk/kqfud vkWfyafidps

firkeg ÿhMse/;s efgykaP;k lgHkkxkP;k

fo#º gksrs-

II. v'kk fjrhus efgykauh vkWfyafid ijaijkaps

mYya?ku dsys ukgh-

(A) I cjkscj o II pwd

(B) II cjkscj o I pwd

(C) I o II cjkscj

(D) I o II pwd

44. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) fpark ijh{k.k (1) LihycxZj

(b) dlksVh ewY;ekiukps fud"k (2) ch- ,e- vk;-

(c) ?ksjkps ekiu (3) oLrwfu"Brk

(d) 'kjhj lajpuk (4) xkSfyd Vsi

mŸkj lwph %

(a) (b) (c) (d)

(A) (2) (3) (4) (1)

(B) (1) (3) (4) (2)

(C) (1) (2) (4) (3)

(D) (1) (3) (2) (4)
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45. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Random sampling (1) Non-overlapping

subsamples

(b) Cluster sampling (2) Unit bunching

(c) Purposive sampling (3) Lots drawing

(d) Stratified sampling (4) ‘Intact’ classes

Code :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (2) (3) (1) (4)

(C) (3) (2) (4) (1)

(D) (3) (1) (4) (2)

45. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) ;kn`fPNd U;kn'kZ (1) ijLij u O;ki.kkjs miU;kn'kZ

(b) xqPN U;kn'kZ (2) ?kVd xßk

(c) gsrwxHkZ U;kn'kZ (3) ykWVjh dk<us

(d) Lrjhdj.k U;kn'kZ (4) ^v[k.M* oxZ

mŸkj lwph %

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (2) (3) (1) (4)

(C) (3) (2) (4) (1)

(D) (3) (1) (4) (2)
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46. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Tidal volume (1) Volume of gas left

in the lungs after a

maximal expiration

(b) Vital capacity (2) Volume of gas that

can be expired at

the end of a tidal

expiration

(c) Expiratory (3) Maximum amount

Reserve of gas that can be

inspired at the end

of a tidal expiration

(d) Residual volume (4) The volume of gas

inspired or expired

during an unforced

respiratory cycle

Code :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (4) (1) (2) (3)

(C) (3) (2) (1) (4)

(D) (4) (3) (2) (1)

46. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) Vk;My okWY;we (1) tkLrhrtkLr mP/oklkuarj

Qq∂Qqlkr jkfgysys moZfjr

ok;w

(b) Ogk;Vy diWflVh (2) Vk;My mP/oklkuarj T;k

ok;wps mRltZu gksrs

(c) ,DlihjsVksjh fj>oZ (3) Vk;My mP/oklkuarj

tkLrhr tkLr ok;wpk

'okl ?ksryk tkrks

(d) jsflMÓqvy okWY;we (4) tksj u ykork dsysY;k

'olu pÿke/;s 'okl o

mPN'oklk e/khy ok;w

mŸkj lwph %

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (4) (1) (2) (3)

(C) (3) (2) (1) (4)

(D) (4) (3) (2) (1)

http://www.studentbounty.com/
http://studentbounty.com/


17 [P.T.O.

NOV-71211/II

47. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) pky.ks (1) LFkkukarj.kh; xrh

(b) >ksdk ?ks.ks (2) ijkofrZr xrh

(c) tafiax tWDl (3) nksyu xrh

(d) fM™fCyax (4) loZlkekU; xrh

mŸkj lwph %

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (1) (3) (4) (2)

(C) (1) (4) (3) (2)

(D) (4) (1) (2) (3)

47. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Walking (1) Translatory motion

(b) Swinging (2) Reciprocative motion

(c) Jumping Jacks (3) Oscillatory motion

(d) Dribbling (4) General motion

Code :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (1) (3) (4) (2)

(C) (1) (4) (3) (2)

(D) (4) (1) (2) (3)
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48. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Sit ups (1) Muscular strength

(bent knee) (Dynamic) and

Muscular Endurance

of Arms and

shoulder

(b) 50 yds dash (2) Muscular strength

and Endurance

(Trunk)

(c) Pull ups (3) Cardio vascular

Endurance

(d) 9 min. run walk (4) Speed of Lower

extremities

Code :

(a) (b) (c) (d)

(A) (2) (1) (3) (4)

(B) (2) (4) (3) (1)

(C) (2) (3) (1) (4)

(D) (2) (4) (1) (3)

48. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) flV vIl (csaM uh) (1) Luk;waph rkdn (xrh'khy)

vkf.k Luk;wapk nenkji.kk&

gkrkpk] [kka|kpk

(b) 50 ;kMZ varj /kko.ks (2) Luk;waph rkdn o

nenkji.kk (ËkM)

(c) iwy vIl (3) ‚n;ukMh nenkji.kk

(d) 9 fefuVs iˇ.ks] (4) 'kjhjkP;k v/kksHkkxkpk

pky.ks osx

mŸkj lwph %

(a) (b) (c) (d)

(A) (2) (1) (3) (4)

(B) (2) (4) (3) (1)

(C) (2) (3) (1) (4)

(D) (2) (4) (1) (3)

http://www.studentbounty.com/
http://studentbounty.com/


19 [P.T.O.

NOV-71211/II

49. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Resting heart (1) 12-16 times/min.

rate

(b) Blood pressure (2) 70-80 beats/min.

(c) Rate of (3) 22-25 kg/m2

Respiration

(d) Basal Metabolic (4) 120-80 mm kg

index

Code :

(a) (b) (c) (d)

(A) (2) (4) (1) (3)

(B) (2) (3) (4) (1)

(C) (2) (1) (3) (4)

(D) (2) (3) (1) (4)

49. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) foJkarh ‚n; nj (1) 12&16 osˇk@feu-

(b) jDr nkc (2) 70&80 Vksds@feu-

(c) 'olukpk nj (3) 22&25 fd-xzW-@fe2

(d) csly eWVWckWfyd nj (4) 120&80 feeh fd-xz-

mŸkj lwph %

(a) (b) (c) (d)

(A) (2) (4) (1) (3)

(B) (2) (3) (4) (1)

(C) (2) (1) (3) (4)

(D) (2) (3) (1) (4)
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50. Match List I with List II and select

the correct answer using the code

given below :

List I List II

(a) Physical Activity (1) Components of

fitness —physical

activity

(b) Physical Fitness (2) Contraction of

skeletal muscle—

energy expenditure

(c) Physical Health (3) Subset of physical

activity improving

and maintaining

fitness

(d) Exercise (4) Human condition—

absence of disease

Code :

(a) (b) (c) (d)

(A) (2) (3) (1) (4)

(B) (2) (1) (3) (4)

(C) (2) (1) (4) (3)

(D) (2) (3) (4) (1)

50. ;knh ÿekad I o II e/kwu ;ksX; tksMh fuoMwu

[kkyh fnysY;k mŸkj lwphe/kwu ;ksX; i;kZ;

fuoMk %

;knh I ;knh II

(a) 'kkjhfjd œrh (1) lqn`<rsps ?kVdµ'kkjhfjd

œrh

(b) 'kkjhfjd lqn`<rk (2) vfLFk Luk;wps vkdqapuµ

mtsZpk okij

(c) 'kkjhfjd LokLFk (3) 'kkjhfjd œrhpk miHkkxµ

lqn`<rk ok<o.ks o jk[k.ks

(d) O;k;ke (4) ekuoh voLFkkµjksxkpk

vHkko

mŸkj lwph %

(a) (b) (c) (d)

(A) (2) (3) (1) (4)

(B) (2) (1) (3) (4)

(C) (2) (1) (4) (3)

(D) (2) (3) (4) (1)
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